Directiong: Show a]] Work for partig] credit purpogeg. You may use graphin
test is closed book.

@ 1. Use Euler’s Method ¢q approximate ¥(2.2) given & _ 2x - 3y-4, and y(2) = | Use a

g calculator. The
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2 A. Find the equilibriuy, solutions to £ — (y _ 6)(y + 1)
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B. Ona single graph,sketch three solutions to d‘i’ = (Y -6)(y +1)* for the three differentia

initial conditions: ¥(0)=-3,25 and 10.
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4. Find y(x), the solution to Q = xz(l+y)2 'y(0) = n/4
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6. First find thl solution to —
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¢ 7. Find the value of k SO that f(x) = x 12 4 kx3 is a probabilit
/ and then find the valye of the mean for the probability de
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8. For f(x) = 17(- 6x, find the length of the curve y=1(x) from x = 2to0 8.
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9. Find the area of the surfa

€€ generated by rotatin b' t the x-axi ] .
from 0 to 74, 1 Y crating about the x-axis the graph of y = 245y
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10. A cylindrical barrel of radius 3 feet is lying on its side half-filled with water weighing
@ 62.5 Ibs. per cubic foot. Find th 'z force against one end of the barrel.
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